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Fact Families (Addition & Subtraction) Name:
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 57+28=85 2) 130+ 717 =847 3 16+3=19
28+57=85 717 + 130 = 847 3+16=19 L
85-57=28 847 - 130 = 717 19-16=3
2.
A.85-57=57 A. 1564 - 130 = 1434 A.17+3=20
B.85-28=28 B.847-717 =130 B.19-3=16 3.
C.85-28=57 C. 130 + 847 = 717 C.22-16=6
D.28-85=57 D. 847 + 717 = 1564 D.20-3=17 4.
5.
4) 29+ 28=57 5) 851+ 54 =905 6) 8+12=20
28 + 29 =57 54 + 851 = 905 12 +8=20 6.
57-29=28 905 - 851 =54 20-8=12
7.
A.57-28=29 A.905-54 =851 A.20-12=38
B.57+28=85 B. 852 + 54 = 906 B.20-12=12 8.
C.85-29=56 C.905-851=851 C.8+20=12
D.28+57=29 D. 54 + 905 = 851 D.20-8=8 .
10.
7) 68+25=93 8) 882+ 7=889 9 15+4=19
25 + 68 = 93 7 +882 =889 4+15=19 1L
93-68=25 889-882=7 19-15=4
12.
A.93-25=68 A.882+889=7 A.23-15=8
B. 118- 68 =50 B.889-7 =882 B.19+4=23
C.25-93=68 C.890-7=2883 C.19-15=15
D.68+93=25 D.889-7=7 D.19-4=15
10) 6+79=85 11) 356 + 400 = 756 12) 12+3=15
79+6=85 400 + 356 = 756 3+12=15
85-6=79 756 - 356 = 400 15-12=3
A.85-79=6 A. 756 - 400 = 400 A.16-3=13
B.79+85=6 B. 756 - 400 = 356 B.15-3=3
C.86-79=7 C. 400 - 756 = 356 C.15-3=12
D. 85+ 79 = 164 D. 400 + 756 = 356 D.18-12=6
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Fact Families (Addition & Subtraction) Name: Answer Key
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 57+28=85 2) 130+ 717 =847 3 16+3=19
28+57=85 717 + 130 = 847 3+16=19 1 C
85-57=28 847 - 130 = 717 19-16=3
85- 28 =57 847 - 717 = 130 19-3=16 2 B
A.85-57=57 A. 1564 - 130 = 1434 A.17+3=20
B.85-28=28 B. 847 - 717 = 130 B.19-3=16 3. B
C.85-28=57 C. 130+ 847 =717 C.22-16=6
D.28-85=57 D. 847 + 717 = 1564 D.20-3=17 a A
5 A
4) 29+28=57 5) 851+ 54 =905 6) 8+12=20
28 + 29 =57 54 + 851 = 905 12 +8=20 6. _A
57-29=28 905 - 851 =54 20-8=12
57-28=29 905 - 54 = 851 20-12=8 7 _A
A.57-28=29 A. 905 - 54 =851 A.20-12=8
B.57 +28=85 B. 852 + 54 = 906 B.20-12=12 s _ B
C.85-29=56 C. 905 - 851 = 851 C.8+20=12
D. 28 + 57 = 29 D. 54 + 905 = 851 D.20-8=8 o _ D
10. A
7) 68+ 25=93 8) 882+ 7=889 9) 15+4=19
25 + 68 = 93 7 +882 =889 4+15=19 n_ B
93-68=25 889-882=7 19-15=4
93-25=68 889 - 7 =882 19-4=15 2_C
A.93-25=68 A.882+889=7 A.23-15=8
B. 118 - 68 = 50 B.889-7=2882 B.19+4=23
C.25-93=68 C.890-7=883 C.19-15=15
D.68+93=25 D.889-7=7 D.19-4=15
10) 6+79=85 11) 356 + 400 = 756 12) 12+3=15
79+6=85 400 + 356 = 756 3+12=15
85-6=79 756 - 356 = 400 15-12=3
85-79=6 756 - 400 = 356 15-3=12
A.85-79=6 A. 756 - 400 = 400 A.16-3=13
B.79+85=6 B. 756 - 400 = 356 B.15-3=3
C.86-79=7 C. 400 - 756 = 356 C.15-3=12
D.85+ 79 =164 D. 400 + 756 = 356 D.18-12=6
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